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ABSTRACT

The objective of this study is to analyze the cost and benefit of honey and bee product
business. Using the data from one company in Chiang Mai province. It also conduct sensitivity
analysis when its costs and benefits varied. The project is assumed to be 10 years from 2003 to
2013. The discount rate given at 8 percent.

The result of this study indicated that, honey and bee product business is worth benefit to
investing. Net Present Value of the project is 43,946,740.04 baht. The project has an Internal Rate
of Return of 29 percent and the benefit and cost ratio is 1.02 . The payback period is 2 years and 2
months.

Sensitivity analysis was conducted in 3 scenario. The results of sensitivity analysis are as
follows: In the first scenario, using the standard discount rate of 8 percent with constant benefit
the cost could increase by 1.35 percent. In this case Net Present Value of project will be
10,797,906.56 baht. The project has an Internal Rate of Return of 8 percent, the benefit and cost
ratio is 1.00 and payback period is 5 years and 5 months.

In the second scenario, using the standard discount rate of 8 percent with constant cost

the benefit could be decrease by 1.35 percent. Net Present Value of project will be 10,204,625.56



baht. The project has and Internal Rate of Return of 8 percent, the benefit and cost ratio is 1.00
and payback period is 5 years and 8 months.

Final scenario, using the standard discount rate of 8 percent with 1 percent increase in
cost 0.35 percent decrease in benefit. Net Present Value of project will be 10,358,439.19 baht.
The project has and Internal Rate of Return of 8 percent, the benefit and cost ratio is 1.00 and

payback period is 5 years and 7 months.



